(M&T p. 9)

ź

## Week 2: Review of Linear Algebra

# The Standard Basis of $\mathbb{R}^3$

In your handwritten notes, you should write  $\vec{x}$  for x.

We have two notations for the standard basis of  $\mathbb{R}^3$ .

$$\mathbf{x} = \begin{bmatrix} x \\ y \\ z \end{bmatrix} = x\mathbf{e}_1 + y\mathbf{e}_2 + z\mathbf{e}_3 \neq x\mathbf{i} + y\mathbf{j} + z\mathbf{k}$$

Context: The  $\{i, j, k\}$  notation is preferred by physicists and engineers.

## **Example: Vector Addition and Scaling**

Add the vectors  $\mathbf{v}_1 = \mathbf{i} + \mathbf{j} - 2\mathbf{k}$  and  $\mathbf{v}_2 = [1, 2, 3]^T$ .  $= \mathbf{i} + 2\mathbf{j} + 3\mathbf{k}$ 

 $\checkmark$  Scale the vector  $\mathbf{v}_3 = 2\mathbf{v}_1 + 3\mathbf{v}_2$  by two and write the result using the basis  $\{\mathbf{i}, \mathbf{j}, \mathbf{k}\}$ .

$$V_{1} + V_{2} = (i + j - 2k) + (i + 2j + 3k)$$
  
= (1+1)i + (1+2)j + (-2+3)k  
= 2i + 3j + 1k

$$2v_3 = 2(2v_1 + 3v_2) = 4v_1 + 6v_2$$
 1 vs 1  
= 4(1+j-2k) + 6(1+2j+3k) ave both  
five.

$$= 4(i+j-2k) + 6(i+2j+3k)$$
  
=  $(4+6)i + (4+12)j + (-8+18)k$   
=  $10i + 16j + 10k$ 

(M&T p. 12)

### **Point-Direction Form of Lines**

Suppose that  $\mathbf{v}$  is a non-zero vector. A line  $\ell$  through point  $\mathbf{a}$  pointing in direction  $\mathbf{v}$  can be written

 $\ell(t) = \mathbf{a} + t\mathbf{v}$ 

In three-dimensional space we can write  $\mathbf{a} = (x_1, y_1, z_1)$  and  $\mathbf{v} = (a, b, c)$  in components and obtain:



Example: Find a Line

Find the equation of the line through the points (1, 1, 2) and (1, 2, 3). Write your answer in point-direction format.

We pick 
$$a = (1,1,2)$$
 we picked a value of a  
and  $V = (1,2,3) - (1,1,2) = (0,1,1)$   
This gives  $l(t) = a + t = (1,1,2) + t(0,1,1)$   
We could pick  $a = (1,2,3)$   
and  $V = (1,1,2) - (1,2,3) = (0,-1,-1)$   
This gives  
 $l(t) = (1,2,3) + t(0,-1,-1)$ 

BOTH OF THESE DEFINE THE SAME LINE

## Example: Do These Lines Intersect?

Consider the following lines  $\ell_1(t) = (1,2,3) + t(1,0,0)$  and  $\ell_2(s) = (-5,-2,1) + s(1,0,2)$  in  $\mathbb{R}^3$ . Determine whether the lines  $\ell_1$  and  $\ell_2$  intersect.

Lines ave given by linear systems.  

$$\begin{cases}
x = 1 + 1 \cdot t = 1 + t \\
y = 2 + 0 \cdot t = 2 \\
z = 3 + 0 \cdot t = 3
\end{cases}$$
Notice: Both y values ave constant and unequal therefore the lines will NOT  $\begin{cases}
x = -5 + 1 \cdot s = -5 + s \\
y = -2 + 0 \cdot s = -2 \\
z = 1 + 2 \cdot s = 1 + 2s
\end{cases}$ 

### (M&T p. 15)

A parametric equation for the line  $\ell$  through  $P = (x_1, y_1, z_1)$  and  $Q = (x_2, y_2, z_2)$  is:

$$\begin{cases} x = x_1 + (x_2 - x_1)t \\ y = y_1 + (y_2 - y_1)t \\ z = z_1 + (z_2 - z_1)t \end{cases}$$

Notice: This is the Point-Direction Form with  $\mathbf{v} = Q - P = (x_2 - x_1, y_2 - y_1, z_2 - z_1)$ .

### **Example: Parametric and Point-Direction**

**Parametric Equations of Lines** 

Consider the line passing through (1, 2, 2) and (2, 2, 3). Write the line as a parametic equation and as  $\ell(t) = \mathbf{a} + t\mathbf{v}$ .

Parametric Form  

$$\begin{cases} \chi = 1 + (2-1)t = 1+t \\ y = 2 + (2-2)t = 2 \\ z = 2 + (3-2)t = 2+t \end{cases}$$
Point - Direction Form  

$$l(t) = a + t \lor$$

$$= (1,2,2) + t (1,0,1)$$

These are VERY similar and it is helpful to be able to use both and to be able to convert between them.



## Normal is at a 90° angle to plane. Fall 2022

(M&T p. 41)

### Point-Normal Form of Plane

The equation of a plane  $\mathcal{P}$  through  $\mathbf{x}_0 = (x_0, y_0, z_0)$  that has normal vector  $\mathbf{n} = A\mathbf{i} + B\mathbf{j} + C\mathbf{k}$  is:

$$A(x - x_0) + B(y - y_0) + C(z - z_0) = \mathbf{n} \cdot (\mathbf{x} - \mathbf{x}_0) = 0 = \mathcal{N} \circ \mathbf{X} - \mathcal{N} \circ \mathbf{X}_{\alpha}$$

*Remark*: We can re-arrange this equation to get:  $Ax + By + Cz = \mathbf{n} \cdot \mathbf{x} = D$  for some constant D.

### **Theorem:** Normalization

If **a** is a non-zero vector then  $\mathbf{n} = \mathbf{a}/||\mathbf{a}||$  is a vector of unit length in the same direction as **a**. We call **n** a <u>unit vector</u> because it has unit length.  $||_{\mathcal{N}}|| = \underline{1}$ 

#### Example: Normalize a Vector

Give all unit vectors **n** perpendicular to the plane  $(\mathbf{i} + 2\mathbf{j} + 2\mathbf{k}) \cdot (x, y, z) = 2$ .

There are only two unit normal perpendicular to a given pla	ls   n   =   n
$N = \frac{j + 2j + 2k}{  j + 2j + 2k  }$	$= \frac{  a  }{  a  } = 1$
$= \frac{1+2j+2k}{\sqrt{j^2+2^2+2^2}}$	

$$= \frac{j+2j+2k}{\sqrt{q}} = \frac{1}{3}i + \frac{2}{3}j + \frac{2}{3}k$$
  
ie also get:  $h = -\left(\frac{1}{3}i + \frac{2}{3}j + \frac{2}{3}k\right)$   
 $= -\frac{1}{3}i - \frac{2}{3}j - \frac{2}{3}k$ 

N



### Orthogonality

## (M&T p. 24)

Suppose **a** and **b** are two non-zero vectors and  $0 \le \theta \le \pi$  is the angle between them.

$$\mathbf{a} \cdot \mathbf{b} = \|\mathbf{a}\| \|\mathbf{b}\| \cos \theta = 0 \iff \cos \theta = 0 \iff \theta = \frac{\pi}{2}$$

In this case, we say that a and b are orthogonal. By convention, 0 is orthogonal to everything.

### **Example:** An Orthogonal Frame

Check that the vectors  $\mathbf{v}_1(\theta) = (\cos \theta)\mathbf{i} + (\sin \theta)\mathbf{j}$  and  $\mathbf{v}_2(\theta) = -(\sin \theta)\mathbf{i} + (\cos \theta)\mathbf{j}$  are orthogonal for all values of  $\theta$ . Sketch them in the plane.



Another nice trying to note:  

$$||v_1(0)|| = ||v_2(0)|| = 1$$
.  
For  $v_1(0)$   
 $||v_1(0)|| = \sqrt{\cos^2 0 + \sin^2 0} = (1 = 1)$ 

We check owthogonality:  

$$V_1 \cdot V_2 = (\cos \theta \, i + \sin \theta \, j) (-\sin \theta \, i + \cos \theta \, j)$$
  
 $= -\sin \theta \cos \theta + \sin \theta \cos \theta = 0$ 

## (M&T p. 35-37)

## **Orthogonal Projections**

The orthogonal projection of  ${\bf v}$  on to  ${\bf a}$  is:

$$\mathbf{p} = \operatorname{proj}_{\mathbf{a}} \mathbf{v} = \frac{\mathbf{a} \cdot \mathbf{v}}{\mathbf{a} \cdot \mathbf{a}} \mathbf{a}$$

The interpretation of  $\mathbf{p}$  is as follows: Consider extending  $\mathbf{a}$  to a line  $\ell$  through the origin. The projection of  $\mathbf{v}$  on to  $\mathbf{a}$  is the vector on  $\ell$  forming a right triangle with hypotenuse  $\mathbf{v}$ .

## **Example: Projecting onto Oneself**

Suppose that **a** is non-zero. What is  $\text{proj}_{\mathbf{a}} \mathbf{a}$ ? Let  $\lambda \neq 0$ , what is  $\text{proj}_{\mathbf{a}} \lambda \mathbf{a}$ ?

## Example: Distance to a Plane

Consider the point P = (1, 2, 3) and the plane  $(1, 1, 1) \cdot (x, y, z) = 0$ . Find the distance from P to the plane by projecting P on to the normal of the plane.

To measure the distance to P  
we measure || projn OP ||.  

$$projn OP$$
  
=  $proj_{(1,1,1)}$  (1,2,3)  
 $= \frac{(1,1,1) \cdot (1,2,3)}{(1,1,1) \cdot (1,1,1)}$  (1,1,1)  
 $= \frac{1+2+3}{3} (1,1,1) = 2(1,1,1)$   
 $= 2\sqrt{1^2+1^2+1^2}$   
 $= 2\sqrt{3}$ 

$$||Kv|| = |K|||v||$$

(M&T p. 66)

(M&T p. 32)

The avea of this parallelogram is

### Matrices and Invertibility

The identity matrix  $I = I_n$  is  $n \times n$  matrix such that: AI = IA = A. For  $3 \times 3$  matrices it is:

$$I = I_3 = \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix}$$

An  $n \times n$  matrix A is <u>invertible</u> if there is another  $n \times n$  matrix  $A^{-1}$  such that:

 $AA^{-1} = A^{-1}A = I$ 

### Determinants

The determinant of a  $2 \times 2$  matrix is:

$$\det \begin{bmatrix} a & b \\ c & d \end{bmatrix} = ad - bc \not/$$

In general, for an  $n \times n$  matrix A:

$$\det A = \sum_{k=1}^{n} (-1)^{i+j} \det(A_{ij})$$

where  $A_{ij}$  is the matrix A without row i and column j.

### **Example:** Find a Determinant

Compute the determinant of the following matrix.

[1	0	2	
0	3	0	
$\begin{array}{c} 1\\ 0\\ 4\end{array}$	0	2 0 5	
		_	

$$det \begin{pmatrix} 1 & 0 & 2 \\ 0 & 3 & 0 \\ 4 & 0 & 5 \end{pmatrix} = 1 \cdot det \begin{pmatrix} 3 & 0 \\ 0 & 5 \end{pmatrix} - 0 \cdot det \begin{pmatrix} 0 & 0 \\ 4 & 5 \end{pmatrix} + 2 \cdot det \begin{pmatrix} 0 & 3 \\ 4 & 0 \end{pmatrix}$$
$$= 1 \cdot 3 \cdot 5 - 0 + 2 \cdot (-3 \cdot 4) = 15 - 2 \cdot 4 = -9$$

MAT B41: Week 2

Fall 2022



(M&T p. 35)

# The Cross Product

If 
$$\mathbf{a} = (a_1, a_2, a_3)$$
 and  $\mathbf{b} = (b_1, b_2, b_3)$  then:  
 $\mathbf{a} \times \mathbf{b} = \det \begin{bmatrix} \mathbf{i} & \mathbf{j} & \mathbf{k} \\ a_1 & a_2 & a_3 \\ b_1 & b_2 & b_3 \end{bmatrix} = \mathbf{i} \det \begin{bmatrix} a_2 & a_3 \\ b_2 & b_3 \end{bmatrix} - \mathbf{j} \det \begin{bmatrix} a_1 & a_3 \\ b_1 & b_3 \end{bmatrix} + \mathbf{k} \det \begin{bmatrix} a_1 & a_2 \\ b_1 & b_2 \end{bmatrix}$ 

## **Example:** Compute a Cross Product

Compute the cross product of  $(1, 0, 1) \times (0, 1, 0)$ .

$$(1,0,1) \times (0,1,0) = det \left( \begin{array}{c} i & j & k \\ i & 0 & i \\ 0 & 1 & 0 \end{array} \right) \\= j \left| \begin{array}{c} 0 & 1 \\ 1 & 0 \end{array} \right| - j \left| \begin{array}{c} 0 & 1 \\ 0 & 0 \end{array} \right| + k \left| \begin{array}{c} 1 & 0 \\ 0 & 1 \end{array} \right| = (-1,0,1) \\ (an you expand along any row/column) \end{array}$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

$$(-1,0,1)$$

# Example: Crossing with Oneself

Suppose that **a** is non-zero. What is  $\mathbf{a} \times \mathbf{a}$ ? Let  $\lambda \neq 0$ , what is  $\mathbf{a} \times (\lambda \mathbf{a})$ ?

$$WM \quad A \times A = \begin{bmatrix} i & j & k \\ a_1 & a_2 & a_3 \end{bmatrix} = 0 \quad i + 0 \quad j + 0 \quad k.$$

$$A \times (\lambda a) = \begin{bmatrix} i & j & k \\ a_1 & a_2 & a_3 \end{bmatrix}$$

$$= \lambda \begin{bmatrix} i & j & k \\ a_1 & a_2 & a_3 \end{bmatrix} = \lambda \cdot 0 = 0$$

$$= \lambda \begin{bmatrix} i & j & k \\ a_1 & a_2 & a_3 \end{bmatrix} = \lambda \cdot 0 = 0$$

弦

(M&T p. 37)

### **Important Properties of Cross-Product**

- The length of  $\mathbf{a} \times \mathbf{b}$  is the area of the parallelogram spanned by  $\mathbf{a}$  and  $\mathbf{b}$ .
- $\|\mathbf{a} \times \mathbf{b}\| = \|\mathbf{a}\| \|\mathbf{b}\| \sin \theta$
- $\mathbf{a} \times \mathbf{b}$  is orthogonal to both  $\mathbf{a}$  and  $\mathbf{b}$ .

### Example: Find the Normal of a Plane

Suppose that a plane through the origin contains the vectors  $\mathbf{v}_1 = (1, 2, 3)$  and  $\mathbf{v}_2 = (2, 1, 0)$ . Find(a unit) normal to the plane, and write it in the form  $\mathbf{n} \cdot \mathbf{x} = 0$ .

We find a normal to the plane.  

$$V = V_1 \times V_2$$

$$= \begin{bmatrix} 1 & 2 & 3 \\ 2 & 1 & 0 \end{bmatrix} = \begin{pmatrix} -3 & +6 & -3 \\ -3 & -3 \end{bmatrix}$$

We form a unit normal N.  

$$N = \frac{V}{||v||} = \frac{(-3, 6, -3)}{\sqrt{3^2 + 6^2 + 3^2}} = \frac{(-3, 6, -3)}{\sqrt{54'}}$$

$$= \frac{(-3, 6, -3)}{\sqrt{54'}} = \frac{1}{\sqrt{6}} (-1, 2, -1)$$
Thus, our plane is:  

$$\frac{1}{\sqrt{6}} (-1, 2, -1) \circ (2, 1, 2, -1) = 0$$

# **Example: The Triple Product Identity**

Given three vectors  $\mathbf{a}, \mathbf{b}, \mathbf{c} \in \mathbb{R}^3$  we have:  $\begin{array}{c} \mathcal{LHS} \\ \mathbf{a} \bullet (\mathbf{b} \times \mathbf{c}) = \det \begin{bmatrix} a_1 & b_1 & c_1 \\ a_2 & b_2 & c_2 \\ a_3 & b_3 & c_3 \end{bmatrix} = \det(\mathbf{a} \mathbf{b} \mathbf{c})$ 

We prove the equality by computing LHS and RHS.  
The LHS is:  

$$\begin{bmatrix} a_{1} \\ a_{2} \\ a_{3} \end{bmatrix} \circ \left( \begin{bmatrix} b_{1} \\ b_{2} \\ b_{3} \end{bmatrix} \times \begin{bmatrix} c_{1} \\ c_{2} \\ c_{3} \end{bmatrix} \right) = \begin{bmatrix} a_{1} \\ a_{2} \\ a_{3} \end{bmatrix} \circ \det \begin{pmatrix} i \\ b_{1} \\ c_{1} \\ c_{2} \\ c_{3} \end{pmatrix}$$

$$= \begin{bmatrix} a_{1} \\ a_{2} \\ a_{3} \end{bmatrix} \circ \left( b_{2}c_{3}-c_{2}b_{3} - (b_{1}c_{3}-c_{1}b_{3})_{g} (b_{1}c_{2}-c_{1}b_{2}) \right)$$

$$= \begin{bmatrix} a_{1} \\ a_{2} \\ a_{3} \end{bmatrix} \circ \left( b_{2}c_{3}-c_{2}b_{3} - (b_{1}c_{3}-c_{1}b_{3})_{g} (b_{1}c_{2}-c_{1}b_{2}) \right)$$

$$= a_{1}b_{2}c_{3} - a_{1}c_{2}b_{3} + a_{2}b_{1}c_{3} + a_{2}c_{1}b_{3}$$

The RHS is!  

$$det \begin{bmatrix} a_1 & a_2 & a_3 \\ b_1 & b_2 & b_3 \\ c_1 & c_2 & c_3 \end{bmatrix} = a_1 \begin{bmatrix} b_2 & b_3 \\ c_2 & c_3 \end{bmatrix} - a_2 \begin{bmatrix} b_1 & b_3 \\ c_1 & c_3 \end{bmatrix} + a_3 \begin{bmatrix} b_1 & b_2 \\ c_1 & c_2 \end{bmatrix}$$

$$= a_1 (b_2 c_3 - c_2 b_3) - a_2 (b_1 c_3 - c_1 b_3) + a_3 (b_1 c_2 - c_1 b_2)$$